City of Columbus Mayor Michael B. Coleman

Department of Public Utilities

Tatyana Arsh, P.E. Director

DATE:

October 21, 2008

TO:

Joel S. Taylor

Director, Department of Finance and Management

FM:

Tatyana Arsh, P.E.

Director of Public Utilities

RE:

Bid Recommendation - #SA002998 (Revised)

Purchase of One Ton Pick Up 4WD Single Rear Wheel Trucks

The Purchasing Office opened bids on August 21, 2008 for the purchase of four (4) diesel powered One Ton 4WD Single Rear Wheel Pickups for the Division of Power and Water. Two of these will be up-fitted with snow blades. Seven (7) bids were received.

Although Tri-County Ford-Mercury Inc. was the lowest responsive bidder they failed to disclose a September 30, 2008 manufacturer ordering cut-off deadline that was required in order to receive their bid price.

The next lowest responsive bidder was Graham Ford. This quote was based on the City of Columbus ordering the vehicles on and/or before the above mentioned manufacturer cur-off deadline of September 30, 2008. Due to the fact that the City would not be able to meet this ordering deadline, the discount could not be applied to this purchase. Also, it should be noted that this Dealer will be going out of business November 7, 2008 and the City of Columbus will be unable to purchase any future equipment through them.

The next lowest responsive bidder was Germain Ford. This quote was also based on ordering the vehicles on and/or before the manufacturer cut-off deadline of September 30, 2008. Germain Ford did not offer an alternate bid for this purchase after the September 30, 2008 ordering cycle.

The next lowest responsive bidder was Graham Ford. As mentioned earlier, this Dealer is closing on November 7, 2008 and will no longer be conducting business.

Utilities Complex	910 Dublin Road		Columbus, Ohio 43215
Director's Office Power and Water Division	0.11010011	AX: 614/645-8019 AX: 614/645-8177	TDD: 614/645-6454 TDD: 614/645-7188
Operational Support Division	614/645-1508		
Fairwood Complex	1250 Fairwood Avenue		Columbus, Ohio 43206
Sewerage and Drainage Division	614/645-7175 F	AX: 614/645-3801	TDD: 614/645-6338

Therefore Byers Ford, 1599 Columbus Pike, Delaware, Ohio 43015, is the next lowest responsive responsible bidder. I recommend that they be awarded the bid for item one (1), four (4) Diesel Powered, Single Rear Wheel, Four Wheel Drive Pickup Trucks at a price of \$31,444.00 each. The award is to include item two (2), two (2) Snow Plows at a price of \$3,902.00 each, and item three (3), four (4) Spray On Bed Liners at a price of \$450.00 each. The Total award will be for \$135,380.00.

We do not wish to purchase item number four (4), an extended warranty, at this time.

If there are any questions, please contact Jim Tindle at 614-724-0128

pc: Rick Westerfield Craig Charleston Jim Tindle James Bond

	Bidder Tabulation - Bid #SA002998 PURCHASE OF ONE TON PRICKUP 4WD	NE T	Bid	#SAC PRIC	\$29 \$29	98 7 4W	۵		
***************************************		-	-		-		9		Andrea of the state of the stat
Old Approximately of the Control of	Contact Name/#	-ocal?	sages 1	Pages 2 Pages 3	Pages 3	Pages 4	Signature	C.C. #	Other
Didder Name/Audress				,.		ļ		1	
TRI COUNTY FORD-MERCURY INC.	RICHARD LEONARD		whoe tonic F FF				and a special process		
5101 W. HWY 146	502-241-7333(PH)		-eresinpede	parte same					
BUCKNER, KY 40010	502-243-2675(FAX)	Z	, >-	/	/	> >	<u> </u>	Z	
BYERS CHEVROLET	JACK STUMPH			*****					der Wilde
555 W. BROAD ST.	614-737-7237(PH)		- ni elizabet	ما درا (بعد الد			wyral myrny	····	also de constante de la consta
COLUMBUS, OH 43215	614-737-7220(FAX)	>	>-	<u> </u>	<u> </u>	> >	<u>> </u>	>	
BOB MCDORMAN CHEVROLET	TOM PARSLEY	, i plane e production and		•		·~~~		و میکند به در	
5885 GENDER ROAD	614-834-6053(PH)					.~~			- Augusta
CANAL WINCHESTER, OH 43110	614-573-7181(FAX)	z	>	/	/	≻	>	<u>}</u>	
GERMAIN FORD	DON BENTLEY						a sustant		
7250 SAWMILL RD.	614-889-7777(PH)	u cionionda	~ = ~ ~ ~	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		m, . m. = V + N=	~~~		
COLUMBUS, OH 43235	614-793-2772(FAX)	>	>-	<u> </u>	<u> </u>	> >	<u> </u>	>	MUSI BE OKDEKD BY 9-50-08
BURT GREENWALD CHEVROLET	CHRIS NIEBES		maarine terr		i mahana bahasan		uudahana 1 kee		
1490 VERNON ODOM BLVD.	330-867-3010(PH)								
AKRON, OH 44320	330-867-3415(FAX)	Z	>	>	>	≻ ≻	>	>-	
	DEREK	***********	***************************************	North residence in		and the second second	*******	الإستان والمساور المساور المساور	/ Solid Olyth dataing
GRAHAM FORD, INC.	BUCKWALTER	was				,e) _E eronandio		√1	SUDIVILLED IVVO DIDG./
707 W. BROAD ST.	614-437-3433(PH)		tent tenama t						BID FOR \$29,555.00 MOST
COLUMBUS, OH 43222	614-464-6142(FAX)	>	>	>	>-	>-	>	>-	OKUEK BY 9-23-08
BYERS FORD	TOM ALLEN 614		e e ante estable					E-1908-07 Bash 70000	
1599 COLUMBUS PIKE	737-7227(PH) 614-		par prosess						n na mana na mana
DELAWARE, OH 43015	737-7220(FAX)	Z	\geq	-			<u>}</u>	>	

COMPANY	Units	ITEM#1		Units	Units ITEM #2		Units	Units ITEM #3		Totallof #1, #2,#3	ITEM #4 (will not purchase)
VTM CO IGT		THE PROPERTY OF THE PROPERTY O									Avenue Valle de la constitución de
FORD-											
MERCURY	4	\$ 27,578.00	\$ 110,312.00	7	\$ 4,755.00	\$ 9.510.00	4	\$ 374.00	\$ 1.496.00	4 \$ 374.00 \$ 1.496.00 \$ 121.318.00 \$	3 1.515.00
BYERS			1								
CHEVROLET	4	\$ 34,929.00	\$ 139,716.00	7	\$ 3,902.00	\$ 7,804.00	4	4 \$ 450.00	\$ 1,800.00	\$ 1,800.00 \$ 149,320.00	
BOB							TOTAL DESIGNATION OF THE PARTY				THE THE PERSON NAMED AND PARTY AND P
MCDORMAN	4	\$ 33,182.85 \$ 132,731	\$ 132,731.40	7	\$ 3,871.00	\$ 7,742.00	4	\$ 445.00	\$ 1,780.00	4 \$ 445.00 \$ 1,780.00 \$ 142,253.40	
GERMAIN	4	\$ 30,423.00	\$ 121,692.00	2	\$ 4,524.00	\$ 9,048.00	4	\$ 420.00	\$ 1,680.00	\$ 1,680.00 \$ 132,420.00 \$	3 2.950.00
BURT											
GREENWALD		h common article				The second secon					
CHEVROLET	4	\$ 36,178.00	\$ 144,712.00	7	\$ 4,351.00	\$ 8,702.00	4	\$ 425.00	\$ 1,700.00	\$ 1,700.00 \$ 155,114.00 \$	3, 2,365.00
GRAHAM								***************************************			
FORD, INC.	4	\$ 31,275.00	\$ 125,100.00	7	\$ 3,870.00	\$ 3,870.00 \$ 7,740.00	4	4 \$ 370.00	\$ 1,480.00	\$ 1,480.00 \$ 134,320.00 \$	3,100.00
GRAHAM		,									
FORD, INC.	4	\$ 29,333.00	\$ 117,332.00	0	\$ 3,870.00	\$ 7,740.00	4	\$ 370.00	\$ 1,480.00	\$ 1,480.00 \$ 126,552.00 \$	3, 2,100.00
The second secon					**************************************						
		vicinanti sa prodresima								A C	\$3,47Z.UU/FULL COVERAGE
) છ	\$2,453.00 /
BYERS FORD	4	\$ 31,444.00 \$ 125,776	\$ 125,776.00	0	\$ 3,902.00 \$ 7,804.00	\$ 7,804.00	4	\$ 450.00	\$ 1,800.00	4 \$ 450.00 \$ 1,800.00 \$ 135,380.00 POWERTRAIN	OWERTRAIN